a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
w

£ £
= 2
= i 8
2 102 £
° g
8
10%k o
(]
£ 10°F
5 :
: 53
I g
: S)
1.4 8 105F At : + g
1 03 1 L E TR 1
0.9 0.95F - ----an- i + : { !
0 050 =15 =10 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm)
—=— DQM_CKF_XiMinusPU_base
—— DQM_CKF_XiMinusPU_retrainOIldFiles125_v2_prelimWPM_epoch4
£
2
(9]
]
Q
]
>
8
10°F o 107
- (] -
1S
S
=
e
5
. : 5 5 * ‘N 3
: : : : : ] 24
of e s *H I B e i1
201510 5 0 5 10 15 20 0¥5 1510 5 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)
£ £
= =
N Q
S g
5 o 10°E
2 E
5
10°E ISy
3]
1S
s
< 10%E
o
5]

L] A AP T A T P T A 1 [
L.cF T y o . . 1
e R R e o

E : 1
0.9F : o N (S I I i I AR ¢ - A I SRR I £ o B L 100 f A

E N T N N L 1 1 N

0—?0 -15 -10 -5 O© 5 10 15 20 10 15 20 10 15 20

Vertex z (cm)

Vertex z (cm)

Vertex z (cm)



	Contents
	Page 1


